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Determine I-I[e’“’j fior W=7 wzineg & Harnmirg Windowe?

b}

B
Convert the anajog filter with system Junction
Fifsy = (EE DL
) = TR+

Inty a digital 1112 filter wsing Bilincar Tansformaticn.
The digital filter shanld hawe a resonant frequency of

mr = it 7
al Diraw the strustures of eascade and parallsl
reulizetions of (he llewing fTncrien: 8
iy
Mizh =

b)

)]

c]

H)

b

i}

k)

(-F=0-4 77

Explain the procodurs of designing digital filters

using Kaizer Window funstion, in detail? T

The disercte time systern wind = ay(n-1)+x(n); n={
is at rest (ie, yf=1) - 0). Check if the syatemn s

linzar fime ihvatiant and BIEO stable? &
Bliscuss the praperties of real valusl sequenzes i
detail 3
' [
UNIT -T1

Shaw thut the Tooms of & polvoomial with real
coefficienys are real or farm complex conjupace
pairs. The inverse is not teve in gencral? 7

[elerming x(n) for the fimction piven below: 8
XKizy=3[-0ma7Z + 27

; if Bz} converges oo unit circla?

Determine the stabiliy region lor the causal
SYSLEI, 2

Hiz) = L[1+a,Z" + 27
By cotpuling its peles and restricting them to
be inzide the vnit ¢ircle?

Consider 2 cansal svstem defingd by pole-zero
pattem show m figure beloar;

i] Determine system fittglion and impulse
reaponse of the system pgiven that

RAizk,.., =17
i} Check the systern stabilin? T
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UNIT-I
Delemine the impulss respanse hin) Ioe he
systen described by second arder diffsrence

-

Equation, 7
wing -dyin-13-hle-2) = o (0 +25 (313
Cnpute he suta cotrelation of signa! “

sni=u"ulnk 0 <as<l

Discuss the comelation of periodic jequences? £

Determine and sketch the convelutan wnl of
stpoals pieen belowr, i

A <0r=6
—_ a
) 0; Crheradse }
{ ;2202 }
Ifn) - 7y o; Otherwise
1 and.

i) Implement he sysiem snd determing jts
difference arpalion? o

UNIT - 11
Digsoribe Goertzal” wlgorithm using necessany
mathcmatical expressions? 7
Compule 18-point DFT of the sequence x(u} ~
cog{nid); 0=n=135 using ralix-4 decimation. En
timne Algorithn? f

Expluin how DFT can be used 0 compure ‘N
rquispaced sample of the z-tweansformy af an N-
o0t sequenye on A circle af rmudies '7'? %

Perdorm the circular convolution of the
fallowing two sequences & draw skerches: 7

Hiny=1{2.1.2,1}
Xiny=11,2,3, 4}

UNIT -1V

The desired Frequeney response of a fow pass
fifter is

ST ST
Ho o™y = {E "4 sa= A—J

0:3mpd < |a| ==
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